PROJECT 1
Write a FORTRAN program to calculate the root of an equation as: 
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Project Procedure: 
For solving the equation above change the equation, as:
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Get a “FIRST GUESS” value for x, from the user & compare the returned value of g(x) with x as the following conditional statement:
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If

, x is the result. (Assume ε is a real number equal to 0.00001) 
Else use the value of g(x) as the new x in the formula and repeat the process, until finding the proper x as the ROOT of equation.
Project Specifications: (I/O)
Input: User may choose one of these 3 inputting forms:
- Input A, B, C and ε from a TXT file, and “FIRST GUESS” for x from keyboard.

- Input A, B, C, ε and “FIRST GUESS” for x from keyboard.

- Input equation ‘
[image: image4.wmf]0

ABxCx

++=

’ as a character string with this formatting:
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Output:  User may choose this output i) in a TXT file ii) on screen:

-Print the value of f(x) in each iteration in a table like:
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-Print the message ‘The Root is =’ , X.

-For
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 print the message “Calculation Process diverging”.
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